Mehrwert-

Einkailrl:fépreis AIIg.irIfgsten Selb'isr:kgsten G(ier\]/vénn Verk?rlljfés:preis steutier: gg%) Endpreis
I Il 1] v
5-2 15-5 19*15:100, 15+2,85
2,00 = 5,00 = 15,00 = =
3,00 10,00 2,85 17,85
I Il 1] v
9-3 9+8 19*17:100| 17 + 3,23
= 3,00 9,00 8,00 = = -
6,00 17,00 3,23 20,23
I v 1] Il
4-1 16,81 -4 20-3,19 |19*20:119
= 1,00 4,00 = = = 20,00
3,00 12,81| 16,81 3,19
\Y, 1] Il I
2441 -2 | 29,41 -5,00 35-559 |19*35:119
2,00 = = 5,00 = - 35,00
22,41 24,41 29,41 5,99
Il I 1] \Y,
550-2 6 - 0,50 19*6:100 6+1,14
= 2 = 0,50 6,00 = =
3,50 5,50 1,14 7,14
| I I IV
12+8 | 15-20 19*15:100| 15+ 2,85
12,00 8,00 = = 15,00 = =
20 —5 2,85 | 17,85
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VERLUST = ROTE ZAHLEN




